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Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

dFVvi
dFVo

a—e—a— O 6 & O G O &t O & & or & & &

—0—
+

40.0

37.5

35.0

32.5

30.0

27.5

25.0

22.5

20.0

day

—&— DUC

0.04
0.02
0. 00
0. 02 -
0. 04

300 -
275
250 ~
225 A
200 -
175 ~
150 -
125 -

40.0

37.5

35.0

32.5

30.0

27.5

25.0

22.5

20.0

day

o
o
<
o [ ]
)
~
™
o
o
)
)
N
®
>
©
o
o
o
™
)
~
o~
o
T
N
)
N 0
N
> [&]
g &
o o -
o
o
2
T T T T T T T
o o o o o o o
S o @ =4 Y S o
I — — - —_ -

0. 6505
0. 6500
0. 6495
0. 6490
0. 6485
0. 6480

40.0

37.5

35.0

32.5

30.0

27.5

25.0

22.5

20.0

day



['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

._t i .t_ t_ _| — [
5 5 5 2 S £
—_ - — T T — w o
x o ¥ ]
G 8 3
= M\ 2 L 2 L _ = =2
[ - \W - - - -
{
wav. |
> 2 \W 2 2 = 2 2 >
\ )
( R\
— 8 2 2 N 2 T ls
= e
= g \
M o o o o o
e e e e e
mwr n
—
-
— =
— Z
> & 2 2 | o & —
= ) 3
= 3 D
= L L NV7 \ =
N
q ~
2 { 2 = | 3 g 3 2 L
mw AvU Mv MV
- S S B I IS IS N S SR | == __l____ I R I N>l __ S NS 0 NI A A SN VS G ~ S S S
—
—
< P—— —
wv <] pi——
— —
nV —
— — o
- P < I
— - AV el =
= /ﬂf B3 —
— o Y o — o o o
o o o o o [Te] o o o {9} o [Te] o o o o o o o o o o o 0 o Lo o Te] < N o [e0) (=) < N
= =] Q 2 S ~ 1B o o ~N 8 o «© ~ © 0 = S 3 S 3 o N o - = o = = - S S IS S
™ N i\ ~N Y — — — N - =

175

150

125

100

75

50

25



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0

6.0 4
1
1
5.9 i
1
1
5.0 1
1
1
4.5 4 I
ol : minFVI
) : minFVO
1
3.5_ 1
1
i 1
3.0 |
1
2.5 1 1
Warning: col ['minFVlraw , 'minFVOraw’ ] is missing :
2.0 !
1
1 1 1 1 1
1.4 - ® [ J ETcAlraw
— ETcAl
1.2 1 o —0— ETcA

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

5000 -

4500 -

4000 -

3500 -

2500 -

2000 -

1500 ~

Warning:—col—["ECC]—is missing

[PHC]

rning: col is missing

31.

31.

30.

30.

29.

29.

28.5 -

Warning: col [ WCperMraw’ , 'WCperMavg'] is missing

—@— WCperM

0. 50

0. 45 -

0. 40

0. 35 A

0. 30 -

0.25 A

0. 20

—o—
+
—0—

minDeltaM
avgDeltaM
stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

. 04 1

.02 1

adjFVOR

.00

-0. 02 ~

—0. 04 ~

Warning: col ["adjFVIRraw’, "adjFVIR',| adjFVORraw' ] is missing

FRA
FRC
FRraw
FR

58 A

56

54 -

52 A

50 A

—@— beg wc

300

10 20 30

40

50 6

250 -

200 -

150

100 -

50 -

®
—Q—
——

postFgEtraw
postFgEtavg
postFgEt




10.
12.
14.
16.
18.
20.
22.
24.
26.
28.
30.
32.
34.
36.
38.
40.

o A~ o

o O ©O O o o
II.III

FgDai ly

0 -
0 -
0 -
0 -
0 -
0 -
0 -
I I I I I I I I
O & H DR R K $ R W O
£ a0 S £ 8 K L :
FITLFFF TS
’33@ ~’§<©
%4 %4






©
—
E]
Y

o
o

(&)
-
WE]
[a

O
—
Ll
—
o

(&)
-
WE]

[

o
—
(E]

[e]
[7]
5]

T PPFD | VN pVPD pR  ETbai ETol

RH

1 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN |

PPFD

T

1.0

0.8

0.6

0.4

-0.2



ETcl

ETol

VN

.o ° . ° . °
P @ @
1000 - - o - & - o 1 e
Y . o ° .' ° .. . °, ¢
800 : : : :
°® % % o ®
600 1 ] © ] ° ] ° °
e * * @ “e ° . o o . ® %3
400 T . ° 1 o® ., 1® oo . T o‘..
° ° ° °
o o0 X 2 o0 o® g 2
| 1 ® - 9 (] | oV ®_o | o ... | S ([ J 'a
200 ° ¢+ % ° e ° o & ° ° % ,
oo © oo® o® o o O ® 5% o °o® o0 ®
° ° ° a
o, ° ® 0
i ] ] ] (] 1@ | >
1600 °® o, N R ce o oge
o ° ° 9
o ®ore* ¢ o20% @ e® o %o %® o
° S ° = e ° ° s °
1200 - e ® ) - ) ) E ) - e o
® ° o ° [ o
1000 1 1 1 1
° ° o® ° ° e o
o o ') 'Y ) o o
800 : : : :
° ° ° °
600 - 1l @ ° i ([ J ° 1l @ ° i 3
400 ~ A (1] . ) e 1 o 1@ )
° ° ° °
T T T T T T T T T T T T T T T T
° ° ° ° °
22 ° T ° . . ° . ° °
® ® LY ) °® ) °® ®
(] [ ] ) [ 1] (] ® [ Y
20 - a0 o - o ) . 1 @ [ 1) . e 0 ) - a ae
6‘. o & ° o ° e @ ® e ., ° .'.o. 0o % ° . ss’® o8
% o d¢ ° ° LR ® e ° o ° o,
— 18 - [ .ﬁ.O - 3 [ I 4 ® [ .fp. 4 ® o .Q‘.O [ )
LY @ [ ) e® 00O e o o Py [ ) ® o [ e 00 ©
" ® ° ) ) e oo e o ° o o °
] ° ] ° T ® T ° T °
o®°° o S o ©® o. . « o o ® | o . . ° o ® ° .
14 - ° 1o . o ° {1 e
° ° ° ° °
° ° ° ° °
T T T T T T T T T T T T T T T T T T
o ® o® o ° ® e o ®
80 . : : : :
° ° ° ° °
70 4 [ ] ® o | [ ] .. 1 [ ] o Y 1 1 ([ ] Y 1 ([ ] Y o
o ® o ®
= 60 - y ° o L H e ® i o o .‘ | e o
eoe % ¢ ° Lo e o o o o™ o
o oo %0 ;' o ° :’.o‘g ° o O o* (‘:g ° ° ® 5=..
50 1 % 7 ° ] ° ° ] %
o o oe o o ®
o © 0y L ) ¢ e°® y o @ °
40 ® . ® - ) -
T T T T T T T T T T T T T T T T
° ® H ® ° o °®
i ° i ° 4 ° J °
1000 o' e o ° o o e
° ° ° °
800 4 ° o i o i L3 i o ©
600 - . . .
c® ° ° ° ° ° °
) ° )
400 ° :: I 0..0 T ’ ° e 1 o..:
® ° ° o
-9.: o0 e o ®e % o o °* ° o ¢ H
2001 $% o 1e e °° o 1 @ o oo 1. ° % ¢ o
() a ® [ J ° [ ] )
. t.v. [ ) ) ° ) ) ° «® O(O. .. 3 O. [ ] ° [ ] ) Y ® ° .:)
i ° ® 4 ° iy
400 o ° o e o °¢°% o
e o ° ® e . 0910 ° oo @b
50 Op %0 © o ®o 9% oo 00,%%¢ 20 © g
350 'o:. ¢ e o o oef."(.' o'o“’..." °
3001 ° o3 - o . orgd .
o o3 ° ® ° &% °® “
2507 o i o 1 o 1
® ° °
e ° °
200He ©® [ . © 1 e ° ® .
150 - : 1 1 1 1
° ° ° ° °
100 - . : : : :
° ° ° ° °
504 @ 4 © . [ ] . [ ] . [ ] .
T T T T T T T T T T T T T T T T T T T
250 500 750 1000 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 60 80 0 250 500 750 1000 100 200 300 400

ETcl ETol T RH VN |



® obs
2000 - Fit
1500
FY/
1000 h
q
500 - “
¥
.‘-y 1'
| @Y e
0 50 100 150
baiA baiB
0.825 0. 0161
1.0
0.8 4
0.6 -
0.4 4
0.2+
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.

obs

1000 ~

800 ~

600 -

400 ~

200 ~

Fit vs obs: a=1.09, b=-82.64

r=0. 86

1.0

400

Fit

600

800

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

100

5:50 -

10:10
11:15
12:20
13:25
14:35

16:00

‘%‘% "/é 4 S




P3-15

BYE) | GEBERTIC (B)) | EBE (EA/#K) | XS EFRE

07:10 306 150.0 R5| TiHAe07:10 KRHIEF (RAEHS)
08:10 306 150.0 RS ThHAQO8:10 kENFEF (KAfREER)
09:10 306 150.0 Be| ThHH@09:10 REFEF (KAEZRER)
10:10 306 150.0 RS FmHA@10:10 KENFEF CRAfEEEE)
11:15 306 150.0 BE| FiHRe11:15 REIEF (REERSR)
12:20 306 150.0 RS ThHAe12:20 kEIEF CRAHEERE)
13:25 306 150.0 R5| TiHAe13:25 KRHERF (RAEHS)
14:35 306 150.0 B ThHA@14:35 KENFEF (RAIEEEE)
16:00 306 150.0 RS ThHA@16:00 KEFEF (KAHEEE)
2it]2754.0 (9%) 1350.0 323 KEC: 2080.0, PH: 6.0

REREBIEC (2650.0) H5iZEEC (2000.0) REI KA, BHEE
HEEIHECE (2650. 0 vs 4220.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=41 (2025-05-11)

VI, VB8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1300

113

182

00

1191

00

- 2000

- 1500 ~

d-1

- 1000 &

FRV (

- 500

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

ByWoFv @D41 q3:11: ET=1191 Fg=1350.0 Ro=43.0

& o

4 2000

- 1500

- 1000

cumET (ml/plant)

- 500

10

11

12

13

18

19

20

21

22

23

0.8 -

E3
B

E3
B

=
B

£33
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

800 4
600 -
400 -

200 -

N varkine: fol

o]

| obs', 'PPFD obs'] is missing

25 1

20 -

15

"To_obs'] is missing

—— RH

80

60 -

40 -

Warning: lcol ['RH obs’, 'RHo obs’] is missY

0.2 0.4

0.6

0.8

1.

0



hour

100

w
o
I

80

140 - 60

:55

- 40

:00

:55

$ & D S
AR RN SN S S
(’,\ A N\ 2N 1N 1

S RO A G

A

\%_
%,
) -
T
ey
7
7
4
%,
&
. ] N

%

3,

R
-



P3-15

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

08:35 288 150.0 FA| 1Ri&@08:35 Bz (KRS
09:30 288 150.0 FA| 1Ri&@09:30 B (KAHEREE
10:40 288 150.0 |Z=| 1Ri&@10:40 Bzh CGREBEEEE)
11:55 288 150.0 el Rige11:55 BHa (REAERSE)
13:00 288 150.0 B {Ri%e13:00 Bz (REAERE)
13:55 288 150.0 S| 1Rige13:55 Bzh (REERER)
14:50 288 150.0 B 1Rige14:50 Bzh (REEESE)
15:45 288 150.0 |Z=| 1Ri%e15:45 Bz (GREAMRESE)
23t 2304.0 (8%) 1200.0 329333 KEC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (187.0 :

ZRIALBRERLE138.0 ml.

HEEIHECE (2665.0 vs 4275.0) 45

138.0), FAlEEHT—@ L XA S
AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=40 (2025-05-10)

150 A

100 A

50

200 -

150

100 A

50 A

( o v

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1683

04
130, 1?] Warning: lcol ['FVI',|"FVO’'] missing 182
[ I

2000

- 1500

- 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

300 4 ,
200 1

100 A

1
Bylnit @41 Q3:12: ET=1308 Fg=1350.0 Ro=42.0

*—o—0—@

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200

100 A

0 =R S f—&—=8&
1 2 3 4

PA | FA | FH | FH [ PH [P [ PH [ BH [ B [R5 [R5 [R5 | RS | RS | Fs | Fs | F5 | Fs | Fs | A5 | AR | BF | BF | R

- 2000

ByEt @40 19:06: ET=1604 Fg=1269. 0 Ro=nan !

- 1000

0 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200 - | o—o—o—o
100 -

1.0 =R S Si—K—=8
) 1 2 3 4

PA | FA | FH | FH [ PH [ PH [ PH [ BH [ A | BB [Z=[ R5 | R5 | RS | F5 || F5 | s | s | A5 | AR | BF | BF | R

- 2000

]
ByWoFv @D41 93:12: ET=1337 Fg=1200.0 Ro=42.0

\
.

1

- 1000

0

0.8

0.6

0.4+

PR | FH | P | FH [ PH [ PH [ PH [ BH [ A [ BB [Z=[ R5 | RS | R5 | F5 || F5 | Fs | Fs | A5 | AR | BF | BF | R

—_
[ ] | _obs
—@— PPFD_obs

’0& ~m~ ® VP

—~

d-1

E

FRV (

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



30.

30.

m=430, FV0=0 m=485, FV0=0 m=5395, FV0=0

31.0 1
31 4 29 - —e— ME | 31.04 —o— ME —— ME
30.5 -
30 - 30. 5
28 1 30.0
09 - 30.0 -
29.5 -
2 . -
25 - 9.5
29.0 - 29.0 -
27 -
26 - 28.5 - 28.5 -
26 1 —o— ME
T T T T T T T 28 0 B T T T 28 0 - T T T
400 600 800 1000 430 435 440 485 490 495 555 560 565
m=620,m FV0=0 m=695,m FV0=0 m=750,m FV0=0 m=805,m FV0=0
; —o— ME —8— ME | 31.0- —e— ME | 31.04 —— ME
30 - 30.5 - 30.5 -
0 -
30.0 30. 0 4
.51
29 - 29.5 A 29.5 A
.0
29.0 29.0 -
.54
28 - 28.5 - 28.5 -
.01
T T T T T T 28 0 L T T T 28 0 - T T T
620 625 630 695 700 705 750 755 760 805 810 815
m=870,m FV0=0 m=940,m FV0=0 m m=430,m FV0=0
-0 e MNE a —o— ME 36 - MW
.9 32 4
.0 - 34
30 -
.9 31 4
32 -
.0
29 - 30 -
.51
30 -
.0 —— MW
T T T 28 - T T T T T T T 29 B T T T
870 875 880 940 945 950 400 600 800 1000 430 435 440
m=485,m FV0=0 m=555m FV0=0 m=620,m FV0=0 m=695,m FV0=0
361 —— W —-— MW o nw | 3¥07 o wmw
' 34.5 -
35 -
35 1 35.0
34.0 -
34.5 -
34 - 34 - 33.5 1
34.0 - 230
33 - i
33.5 33 4 29 5
33.0 -
32 32.0 -
485 490 495 555 560 565 620 625 630 695 700 705



m=750, FV0=0

36

35 A

34 -

33 -

—0—

M_w

750

T
755

760

m=805, FV0=0
—— MW

36
35 A
34
33 -

T T T

805 810 815

m=870, FV0=0
—o— MW
35
34
33 -
870 875 880

m=940, FV0=0
——
36 - N
35 -
34 -
33 -
940 945 950




100

0:00 -
80

6:25 -
- 60

10:05 -

W S
’s’{ﬁ‘ ‘%‘” .«‘?r




P3-15

AYiE) | EBIATK (FD) | EME (EH/HK) | XR SRR

11:45 288 150.0 [/\f| 1BRig@11:45 Bz (kBERSE)
12:55 288 150.0 |/hflI| {Ri&@12:55 Bzh (RB{EEE)
23t 576.0 (2%) 300.0 329333 KEC: 2080.0, PH: 6.0

FEREHEME STEAERST (187.0 : 144.0), AT —@E XAH5
ZRIAKFRERE144.0 ml.

large discrepency for begining water status (228:39.0), set to 228 ml.
REREIREC (2620.0) 5igFEEC (2000.0) REK K, BHHRE

BE[EIRECE (2620. 0 vs 4125.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=39 (2025-05-09)

LR S T i et
VI, VB#H¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 1500
1150 -
100 - -
34 - 1000 -
50 - 361 900 E
190 Warning: lcol ['FVI',| "FVO'] missing 13(}‘2 1814

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

i
Bylnit @41 (3:12: ET=910 Fg=750.0 Ro=28.0 4 1500
|

- 1000

- 500

cumET (ml/plant)

G I 7 e O s o I I s o - I I L

=

1 c

300 1 ByEt @D39 19:07: ET=388 Fg=141.0 Ro=nan 1 =2

! - 1000 £

200 A i E
|

o—@ \ 4 @  J | —

100 - M : 500 u%

——T—o— 8o o 00 o o o ¢ ¢ o o 0o
0 p—a PN P S e — 1 0

400 1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
X7 ] P8 | B | /e || PR | Nma | i | BB | BB | PR | e | e | e | e | Ber | Wri| B | BB | B8 | %A | ®A | B | B8 | 9%

=

1 C

300 1 ByWoFv @D41 03:12: ET=361 Fg=300.0 Ro=0 =

: - 1000 2

200 - t E
1

100 - : e © © & © 500 »u—é

& e e e e e e e & o 3
1

1.0 -p—map PN PN R S e — — — P 0

0 [ 1 2 [ 3T a5 6 [ 71 8910112181415 [16[17 [ ][19[2 [21]2 723
oadAM| B [ BH ||| BA A [vEa| BA | BA [ BH |/l | /vEl (B | PSRl | Pma (Bera | BH | BA [ P | BH | BA [ FH | BA

0.6
0.4+

0.2~

808 3

600 - () | _obs
—@— PPFD_obs

—_— 4

hour



30. 5 A

30.0

29.5 -

29.0

28.5

28.0 -

27.5 A

M_E

T
540

T
560

T
580

m=530, FV0=0

30.5 A

30. 0 -

29.5 A

29.0 A

28.5 A

28.0 A

27.5 A

—O—

M_E

550

T
555

560

—o— MW
34
33
32
31
T T T
540 560 580

m=530, FV0=0

—— MW
34 -
33 -
32 -
31 4
T T T
550 555 560




hour

100

7:35 -
7:45 80
8:45

- 60
10:40

- 40
12:00
14:10

I I I I I I I

% S & N IR R
@f Q/% _%% & @6‘ @v&@%&, PR ,@-Qé_\@

-:i%_'\ A4 N



P3-15

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE

07:45 288 150.0 (& =| 1Ri%e07:45 Bz (kBERESE)
08:45 288 150.0 |Z=| 1Ri%e08:45 BHzh (RFIEREE)
10:40 288 150.0 (2 =| 1BRi%@10:40 Bz (kAFERSE)
12:00 288 150.0 B Rige12:00 Bz (REAERSE)
13:05 288 150.0 | =| 1Ri&e13:05 Bz (KRBEEE)
14:10 288 150.0 (=] 1Ri%@14:10 Bz (REERSE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEEIHECE (2625.0 vs 3950.0) RS

144.0), FlEEHT—R % XA HS
AEREMEC (2625.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=38 (2025-05-08)

150 A

VI, VB3RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1496 | 500
1100 1150 152
100 73 951 1000
90 7 L 500
148 Warning: lcol [FVI',| "FVO’'] missing 190
04 r0
( 4
200 A 32
150 + —3OI-IJ
=
100 + - 28
50 A
- 26
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 ] - 2000
300 Bylnit @D41 q3:12: ET=1218 Fg=1200.0 Ro=38.0 t
: - 1500
1 @ @ @
200 ~ : - 1000
1
100 - i — TR — B S 500
b6 —& Ol & I I I I e
0 Oﬂ 1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 '9000
a0l M | BB | BB (2| B | BA [ BE [ BF | 5 | B i 5 | BH | BH | BH | BH | BH | FR | FBE | BB [ BB | M | O | ®
1 - 1500
ByEt @D38 19:06: ET=1118 Fg=1152. 0 Ro=nan 1
200 ~ +44. ® - 1000
100 - 500
0 — 41 : —— —Q
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 000
3001 B | BB | BB [BR|2F |25 |35 (237|255 |57 B g |Z=|%=| FH | FA [/f| BB | BB | BB | BH | BH | BH
1 - 1500
ByWoFv @D41 (33:12: ET=955 |Fg=900. 0 Ro=33.0
200 ~
i - 1000
100 4 ! L 500
1
b o -e ol
1.0 OH ] = > = 0
R AR AN RE T E A E R E T E A EFIE TS ERIN g |Z=|%=| FH | FA [/f| BB | BB | BB | BH | BH | BH
0.6 -
0.4 1
0.2 A
0.0
—_— 4

o | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=525, FV0=0 m=635, FV0=0

30. 5 -
—o— ME 09 —@— ME 30.5 - —o— ME —o— ME
31 . |
30.0
30.0 -
30 " 29. 5 -
29.5 -
29 - 29.0 -
29.0 -
28 - 07 28.5 -
27 - 28.5 1 28.0
26 - 26 - 28.01 27.5 1
T T T T T T T T T T T T
600 800 1000 455 460 465 525 530 535 635 640 645
m=710,m FV0=0 m=775,m FV0=0 m=835,m FV0=0 m=905,m FV0=0
30. 5 - 31.0 -
30.0 - —o— ME —&— ME | 555- —o— ME —o— ME
30. 0 - 20.5
-9 30.0 -
29.5 -
0 30.0 -
: 99,0 4 29.5 -
29.5 -
28. 5 -
28.5 - 29.0 7
28.0 29.0 4
28.0 - 28.5 -
-9 7 28.5 -
27.5 - 28.0 -
" 0 - T T T T T T T T T 28 0 - T T T
710 715 720 775 780 785 835 840 845 905 910 915
m=1010m FVO0=0 m m=455,m FV0=0 m=525,m FV0=0
31
.5 - —o— ME aa] —® WM —o— MW 31 —e— MW
.0 - 20 - 20 -
32 -
30. 5 -
31 -
30. 0 ~ 30 4 29
.9 30 -
28 - 28 -
.0 - T T T T T T T T T T T T
1010 1015 1020 600 800 1000 455 460 465 525 530 535
m=635,m FV0=0 m=710,m FV0=0 m=775,m FV0=0 m=8395,m FV0=0
331 —@— MW 331 —— MW —— MW —— MW
32 32
32 -
32
31
31 A 31 -
31
30
30 - 307 30
29
635 640 645 710 715 720 775 780 785 835 840 845



m=905, FV0=0

33 1 —— MW
32 -
31 -
30 -
T T T
905 910 915

m=1010, FV0O=0
—e— MW
34
33
32
31
T T T
1010 1015 1020




hour

100

[ee]

w

o
I

80

- 60
10:50

12:10

- 40

13:10

15:45

$ & D S
AR RN SN S S
(’,\ A N\ 2N 1N 1

S RO A G

A

\%_
%,
) -
T
ey
7
7
4
%,
&
> N

%

3,

R
-



P3-15

Bfie) | GEBEETIC (7)) | EME (EH/HK) | XS EFRF

08:35 288 150.0 RS {Ri&e08:35 Bzl (REMERESE)
09:35 288 150.0 |Z=| 1Ri&@09:35 Bzl (RkE{EEE)
10:50 288 150. 0 | 1Ri%@10:50 Bz (REERESE)
12:10 288 150.0 S| Rige12:10 Bz (REEESE)
13:10 288 150.0 el Rige13:10 Bz (REERSE)
14:30 288 150.0 B 1Rige14:30 B3h (REEESR)
15:45 288 150.0 BE| Rige15:45 B (REAEHE)
23t]2016.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEERECE (2575. 0 vs 3810.0) FiE

144.0), FlEEHT—R % XA HS
BEREMEC (2575.0) H5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 4

1000 ~

P3-15_0, Day=37 (2025-05-07)

150 A
100 A

50

(¢
200 -
150
100 A

50 A

VI, VO438RY, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1496
1200

13

180 Warning: lcol [FVI',| "FVO’'] missing 148

- 1500

- 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

1
Bylnit @41 §3:12: ET=1344 Fg=1350.0 Ro=44.0
I

2000
- 1500
- 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 8000

so0l P& | P& | P& | %6 | P& | % | W& | W& | W& | RE | W& | P& | PR | W | & | FE | W& | FE | RE | % | B3| B3| B[ M

150 A

ByEt @D37 18:36: ET=1276 Fg=1176.0 Ro=nan !

- 1500

- 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 8000

0l BB BB | BB |2 |2 | % 5= % | B | BB | B % % |5=5= W || B|%
150 -

100 A

50 A

1.0

I
ByWoFv @D41 93:12: ET=1113 Fg=1050.0 Ro=31.0
]

$—8& & 3

- 1500

- 1000

- 500

8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

5 | A5 | A5 | A5 | A5 | A5 | BF | MR |- | X[ FH [ FH [ B | FA

™
T
f==1
T
f==1
T0H
E=-1
Tt
™
T
f==1
T
il o
o[ ~
™
T
W
MI

500 -

—_—
[ ] | _obs
—@— PPFD obs

401 o RHo_obs

RH
[ ] RH_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=470, FV0=0 m=530, FV0=0 m=610, FV0=0

M_E 29.51 —o— ME | 30.5- —o— WME —o— ME
30.0 -
29.0 -
30.0 -
29.5 -
28.5 -
29.5 -
28.0 - 29.01
29.0 -
27.5 28.5 1
27.0 4 28.5 1 28.0
T T T T 26'5_ T T T 28-0_ T T T 27'5_ T T T
600 700 800 900 470 475 480 530 535 540 610 615 620
m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
—— ME| 4, —o— wme | 3057 —e— ME | 30.5- —o— ME
30.0 - ]
29.5 - 30.0
29.5 - 29.5 -
29.0 -
29.0 - 29.0 -
28.5 -
| 28.5 -
28.0 - 28.5
| 28.0 -
275 ] 28.0
T T T T T T T T T T T
690 695 750 755 760 805 810 815 885 890 895
m=925,m FV0=0 m m=470,m FV0=0 m=530,m FV0=0
32.0 -
—o— WME ] O MW —— MW 32.51 —— MW
31.5 -
32.0 -
32
31.0 - _—
31 -
30. 5 1 31.0 -
30 -
30.0 - 30.5 -
29 -
29.5 30.0 1
T T 28 - T T T T T T T T T T T
930 935 500 600 700 800 900 470 475 480 530 535 540
m=610,m FV0=0 m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0
—— MW 4| —— MW 32 —o— MW | 31.5{ —e— MW
31.0 -
51 31 - 20,5 -
30.0 -
30 301
29.5 -
| 29.0 -
29 29
T T T T T T T T 28. 5 B T T T
615 620 685 690 695 750 755 760 805 810 815



m=885, FV0=0

—— MW
31 4
30
29 A
T T T
885 890 895

m=925, FV0=0
—— MW

33 -
32 -
31 A
30 A

T T T

925 930 935




